=
=
03]
<
x
o
|
=
w
0
T
<
=
(®)

SVJCR/L

Pasmepbl
0603HayeHve ¢ MnactmHa J))))
Buht
SVJCRIL1212F11 12112 | 80 | 22 | 12| 16
SVJCRIL1616H11 16 |16 | 100 | 25 | 16| 20
VC**1103 | M2.5*8 T8
SVJCR/L2020K11 20 (20| 125 | 32 | 20| 25
SVJCR/L2525M11 25125]150 | 38 | 25| 32
SVJCRIL1616H16 16 | 16 | 100 | 30 | 16 | 20
SVJCR/IL2020K16 20120 125|32|20| 25
VC**1604 | M3.5*9 T15
SVJCR/L2525M16 2525|150 | 40 | 25| 32
SVJCR/L3232P16 321321170 | 45 | 32| 40

Pasvepsl

0603HayeHve

SVJCR/L1010H1T1F 10| 10 | 100 |10,5| 10 | 10
SVJCRIL1212H11F 12 (12| 100 |125]12 | 12
SVJCRIL1616K11F 16 | 16 | 125 (16,5 16 | 16

MnactuHa

VC**1103

Bunt

M2.5*8

T8

@

TUMITEC

turning & milling technologies




SVJCR/L

TOKAPHbIE OEPXABKU

0603HaueHve MnactmHa
Bunt

ST0K-SVJCR/L11 912 |10 6 |125| 28 | 9 13°
ST12M-SVJCR/L11 914 |12 7 150 35 |11 10° M2.5*6
VC**1103
$16Q-SVJCR/L11 018 | 16| 9,5 180 40 |15 10°
$200-SVJCR/L11 022 120 11,5/180| 45 |18 8° M2.5*8
$160Q-SVJCR/L16 018 | 16| 95 (180 45 |15 12°
$200Q-SVJCR/L16 022 12011,5/180| 48 | 18| 10° VC**1604 | M3.5*9
S25R-SVJCRIL16 027 |25| 14 |200| 54 |23 7°

Pa3smepsl

0603HadeHve Mnacrava | Sld.CoMer

R3(r)
Bunt
S12M-SVJCR/LO8 014 (12| 11 |150| 26 [33]20| 7 | 9°

$16Q-SVJCR/LOB-AV | @18 |16 | 15 [180| 36 [43]22|9,5|10°

VC**0802

TUMITEC
u turning & milling technologies



